
Term 3 Revision – memorandum 
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Question 2: Choose the correct answer

2.1 
Responsibility:  Successful entrepreneurs must be prepared to take responsibility for their decisions and actions.  They are responsible for ensuring that their staff are trained correctly  and that they have the correct equipment to do their jobs.  If not, they need to ensure that they take responsibility when things go wrong.  
(max. 5)

Risk-taking:  Entrepreneurs are prepared to take risks in order to reach their business goals.  They risk their own money and possessions to start a business that may not succeed.  Successful entrepreneurs will not be foolish and will only take calculated risks.  
(max. 5)

Perseverance:  Entrepreneurs will see the project through to the end and not give up easily.  They keep their belief in their business idea even when they come across difficulties.  They are prepared to put in long hours in order to get the job done.  
(max. 5)

Good management and organisation:  Entrepreneurs need to have good management skills to ensure the staff are working and achieving the goals set for them.  Good organisation means that the entrepreneur is able to know exactly what is being done, who is doing it and that the customer’s needs are being met on time.  Good organisation means that entrepreneur salways have the bigger picture in mind.  
(max. 5)

Honesty and ethics:  The business ethics will be based on the personal values and ethics of the owner.  Entrepreneurs have a moral duty to look after the interest of investors and other stakeholders as well as their own.  
(5) [max. 3 × 5] [15]

See pages 132–133 for more answers, for example passion and energy, creativity and innovation, and confidence and adaptability.

2.2.1 
Profitability: A business owner starts a business in order to make more profit on his or her investment than he or she would investing the same money somewhere else.  Profitability means the margin of profit made.  This can be measured on sales, market share, net profit or other returns on investments.  If the business is not meeting the required profitability, the business owner must investigate to find the reasons for this so that they can be addressed.  
(max. 8)

Sustainability: A sustainable business is one that will continue to operate even when facing difficulties.  Difficulties could be recession, labour unrest or change in ownership.  The following factors affect sustainability of a business:

· Profitability and a sound but increasing customer base is a sound foundation for any business. 
· A business must build on its successes and learn from its mistakes. 
· A succession plan for leadership in the event of the death or resignation of a manager or CEO should be drawn up. 
· The business owners should make sure their business is different to that of their competitors and that the target market know what the difference is and how important it is to them. 
· A sustainable business will be able to develop and retain good staff. 
· A business owner must continue to grow, and keep up with market trends and changing technology. 
· A sustainable business is environmentally aware.  
(max. 14)
2.3 
Develop a sustainability programme. 

Insist on environmentally responsible practices. 

Ensure the business strives to cut costs and reduce waste. 

Make sure the business complies with regulatory requirements for safety and health standards. 

Develop a good, sustainable corporate investment programme.  

2.4 
Note to teacher: This answer requires the learners to apply their experience and knowledge. Allow any answer that is reasonable and possible, for example HIV counsellor, care giver, fund raiser, computer training, caring for children, giving extra lessons, helping with homework, and so on. 

(1 mark each, max. 3 marks)
Question 3: Short questions – Marketing

3.1
Market segmentation is a way of breaking up the market into separate groups of consumers.  Each group has different needs and wants.  Market segmentation helps to design a marketing strategy that targets the specific target market.  It helps businesses to identify niche markets and product differentiation.  
(max. 6)

3.2
Exporting finished goods brings more money into the country than is earned from raw materials. 
Increased production provides more work for the local community. 
Developing countries, such as South Africa, have greater access to capital if they can offer goods and services to world markets. 
Transport routes are used more and are therefore more cost efficient. 
South Africa can have improved relations with other countries through trade exports.  
(max. 6)

Note: The learners’ answers must relate to benefits to the country. Learners must learn to apply their knowledge to the question and not just give answers they have learnt from the textbook. 

3.3
Standardisation and grading helps in the buying and selling of goods, as the products can be sampled and described. 
Standardised goods are easier to market as customers know that the quality is consistent. 
Producers can sell goods of different quality to the most suitable markets. 
Standardisation and grading assist when comparing prices with competitors. 
It is easier to raise loans as standardised products have a ready market and are accepted as security against business loans. 
Standardised and graded products are easily valued and price fluctuations are lower. This could lead to reduced insurance costs.  
(max. 8)

Note: Mark the first four answers to the question. The learners must learn to select their information carefully or to cross out any answers they do not want marked. Some learners think that if they write all the information they know they will get maximum marks. Again, they must be trained to answer the question – give ‘FOUR’.

3.4
Note: The graph must have a horizontal line , a vertical line,  and a curved line that starts low, levels out and then drops.  

There should be four points marked on the curved line: Introduction,  Growth,  Maturity,  and Decline.  
(max. 6)

3.5
A brand identifies a product as having some advantage over competitors.  A brand becomes known through advertising,  for example, Pick n Pay’s No-Name brand. 
(max. 4)

A trademark is a logo, symbol or phrase that identifies a specific product or manufacturer.  Trademarks can be registered.  A trademark makes a brand instantly recognisable,  for example, the Nike tick and McDonalds’ ‘M’.  
(max. 4)

3.6
Internal factors are decisions about pricing made by the management of the business.  These are some examples:

· The marketing objective, for example, to increase sales by 10%, will affect the pricing of the goods. 
· Marketing strategies, such as launching advertising campaigns, will affect pricing strategy. 
· Costs affect pricing. These must be accurate to ensure that the selling price results in a profit.  
(max. 4)

External factors are those things that affect selling price over which the business has no control.  These are some examples:

· Elasticity of demand (when the demand for the goods changes and prices need to be adapted) will affect pricing. 
· Consumers’ expectations of what a product should cost them will affect the pricing. 
· A business must price goods so that they can compete with similar products on the market. 
· Government legislation controls and sets the maximum price for essential foods, such as bread, milk and maize.  
(max. 4)

3.7
A business could use intermediaries to distribute its products. This is known as indirect distribution.   In such a situation, large quantities of products are sent to a wholesaler.  The wholesaler then distributes these in smaller quantities to retailers.  In turn, a number of retailers purchase goods from the wholesaler. The producer would find it difficult to reach as many customers using its own resources as it does through indirect distribution.  Transport costs are also cheaper as one large delivery is made instead of a number of smaller ones.  Packaging costs are reduced, as the products are packaged in bulk and then repacked by the intermediary into smaller quantities.  
(max. 8) [50]

Note: If the learners refer to retailers, it must be in the context that the specific retailer buys in bulk for its own central warehouses. Franchising is also a way of distributing goods over a wide network while maintaining control over how the product is delivered to the customer. 
Question 4: Short questions – Production

4.1
Control of inventory/stock is important because it is one of the biggest expenses in the business.  Inventory costs do not only refer to the direct costs of stock, but also include aspects such as insurance, storage facilities and the administration to manage it.  If stock runs out, production will stop and the business will not be able to meet orders.  Holding excess stock ties up money that could be used elsewhere.  If stock is properly controlled, there is less waste,  and less money needs to be invested in stock.  
(max. 8)

4.2
Differences between mass and batch production:
	Mass production
	Batch production

	Large quantities of the same product are made using a conveyor belt-type method. 
	Batches of products are made. Each batch is similar but different. 

	Specialised machinery is used.
	More general-type machinery is used for more than one process. 

	Demand and orders are regular and predictable. 
	Orders vary and batches are made accordingly. 

	Very little stock is maintained. 
	Some stocks of raw materials and finished goods are maintained. 

	Workers are specialised in a specific process and can become bored. 
	Workers are semi-skilled and can do more than one process. 

	(max 6)
	(max. 6)



[12]

4.3
Costs 

4.3.1
Total production costs = variable costs + fixed costs

= stock on hand R20 000  + new stock R50 000  + labour R50 000  + fixed costs R4 000
= R70 000 + R54 000
= R124 000  
(6)

4.3.2
Unit cost (one pair of jeans) = total production costs ÷ number of products

= R124 000  ÷ 1 000 
= R124  
(4)

4.3.3
Break-even point = fixed costs ÷ contribution

Contribution = selling price – variable costs

R250 – R20 000  + R50 000  + R50 000  ÷ 1 000 
= R250 – (R120 000 ÷ 1 000)
= R250  – R120  = R130  
(max. 7)

Break-even = fixed costs ÷ contribution 

= R4 000  ÷ R130 
= 30,7 or 31 pairs of jeans  
(max. 3)

4.4.1
Routing sheet: The route, in order,  that each process must follow to complete a product.  You can use a flow chart, spreadsheet or computer program to design a routing sheet.  
(max. 4)

4.4.2
Production schedule: The list of products or orders that must be completed  in the order of priority.  The production schedule also lists the starting date and completion date of the order.  It is an overview of the production for a week or month. 
(max. 4)

4.4.3
Loading chart: The time that a specific machine or piece of equipment will be used in a working day.  
(2) [50]
Question 5: Report – Marketing

Use the following mark allocations for the report:

	Component
	Max. mark allocation

	Introduction
	2

	Product
	12

	Price
	12

	Promotion/ communication
	12

	Place/distribution
	12

	Conclusion
	2



[max. 40]

Note: Always allow more marks for the main sections of the question. The learners do not know how you have distributed the marks. This gives them a little bit of discretion. Should they achieve more than 40 marks, they will only receive the total of 40/40 for their answer.
Question 6: Report – Production

Use the following mark allocations for the report. 

	Component
	Max. mark allocation

	Introduction
	
	2

	Plan production 
	General
	4

	 
	Routing
	8

	
	Loading
	8

	
	Production schedule
	8

	Plan layout
	
	6

	Plan inventory
	
	6

	Plan costs
	
	6

	Conclusion
	
	2


[max. 40]

Note: In Question 6, the main section of production planning has been loaded with a possible 32 marks. If learners do not mention layout, inventory and costs, they will not get full marks but they could be awarded high marks for their knowledge of the three main points for production planning. 

Total: 240 marks
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